
3rJifiqm

Roll No.

R..izr : 2 strt so fr-'{c
Time : 2 hours 30 mins

i. €t.d d-di b gr< era cyc-gfuor d du
6{ EHkrd 6-r dt fu gk6r t dr$ ZE ?ir

TdT t 3i< ta nt tr dr$ ZE qr$ ari q*

-€-61slr-ol$ gr< sri mer ftffeilo 6\ er
srcsq-otrTfl{ gk-oi e-co fr si-}ftt

2, 3rt{?fi o} gr tso cT{Fd6..{i tt c-d6 ec{
1si66rtt

3. cg=r q7r 61 6d fr+ rr$ silosco3Ttro 3rrt rlrNrF

q-< *+ Br

a. siroscosTRo 3nq qrkF rr{i t $ eilopqmmo
ER rtzrr q* ftdr0 Frdvit 6t tqngdo T6
dr

s. c-d-6 csq b fts dR 3rR ft-os frn rr$ dl
TS E?i R-dfr6 3fud frm drrol silosqo 3rK0

r{r q,{6 t sfr ft-6-iq dr& rtrd 6t +e/6rd
Tqrfi e d-d qrid tc t {s c-6n 6'rdr 6t
fu sr& rild b er6i q hr+ qdr
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defect is detected, immediately inform the
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2. The candidate has to answer 150 questions in
all. Each question carries I mark.

3. Answer the questions in OMR answer sheet

only.

4. Read the instructions given in OiltR
answer sheet carefully before answering.

5. There are four altemative choices against each
question. Select the correct and most
appropriate choice and mark it with
blue/black ballpoint pen in the right bubble of
the OMR answer sheet in such a way that ink
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1 :+-qumr6 su.n-fr b sqdldr 6t{ t?
A Ts-d?j

i mgsiqB
C; Sr
D i.us'.fr-s

tEf:d of ftren ti _ d ceewf
- a \ 

^ 
l[.:-- ':c)l 5l.ll 6l

A) 3{Edrfrm-dr

i3) dTifltKul

,c) 3q{-s atii
(D) r+Stot$+*

risrqreo Bors or arsd t
1n; u-5ur d rrf ii+fr qa-imfi 6T sqrfr{ur

(B) q-6ur 61 .r$ Wffiit or frsiqq
(c) qu-{:}it mr €q-6rrr uti gr, u-*g#o-<w

1oy srf+ eS

3q ffi b sqgx eait or eqf fl6 3rtr

il6 61erd fuq akn ffia elar ta
(a) erifuq em-en

(B) n@o r+wr

J/ sffid qR-sm{ sren

xrx- I

play an important role in the

education of students.

(A) Heredity

(B) Environment

(C) Both of the above

(D) None of the above

Cognitive development means :

(A) Transformation of received sensory

Information

(B) Elaboration of received Information

(C) Storage and recovery of Information

(D) All the above

2 2

3

4 What is the stage

conception to birth ?

(A) Pre-natal

(B) Infancy

(C) Later Childhood

(D) Pre-Adolescence

called fro m

(D) drq qftEro-q 3ffi€r

SET.A

drf, fu6Ts uti Freror frflq
Child Development and Pedagogy

F]

4. :lifrrriur t to-< aq - d sro-en o1 mr
uo anar tr
(A) ce-d[d

(B) EtIri"I

{c) rrR drerErefi

(D) g{ ffird-€rT

1. Who is the father of Psychoanalytic

System?

(A) Wood Worth
(B) Sigmund Freud-

(C) Jung

(D) J. S. Ross

5. Aciording to Jean Piaget, Children

develop abstract logic and reasoning

skill during :

(A) Sensorimotor stage
(B) Pre-operational stage
(C) Formal operational stage

(D) Concrete operational stage

P.T,O.
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a=

6 afu-s qrq.q fi S.u.ff. (cnD ftftr fr ,r$

en-

(A)

(B)

(c)

(D)

7. *.c'.fi. (r.e.r.) fu ffi mrd dr
(A)

(B)

(c)

(D)

B Frq,ftfua ii otq sr Ek 3ft ft-ors or

ftar< q-& ta
1n; arfum ft'Frffrsn or fr-ar<
(B) +ffi tfr{ mr fuar<
(c) ft-{frr-dr m fuarq
(D) +d{ or fuam

MLL (qftnt 3{ftFrq'Rr) {crsq t w teT

3qrrrqf,fficlqdrtfr-
1e; ftxft !ft 6rd an mft frflPtr qrirq

w* a-o *q soi dr

(B) HS srRrrqorddld +€t ;n soi dr

(c) elft Jlgql o] crH T6t fuqr Hr rrrF-irT

tt
1o; arftn d $ ot$ +frr

Fmfrfua ii t fu-fl &r ii sfefiq'6r
3iRrd-dc 6€ir{q qnrE ta
(A) ls{ur
(B) Hrqr?i16iuT

1c; aa-elur

to) era-di mr Fmfui

wtc{ arci

d-o-o mqr

d-dus 6RT

qt 6RT

10

20

30

40

9

SET-A

xrx- 1

6. Child Apperception Test (CAT) meth

rsonality measurement was given

Skinner

Bellak

Holland

Murray

of Pe

by-
(A)
(B)

(c)
(D)

7 How many cards are there for T.A.T.

(Thematic Apperception Test)?
(A) 10

(B) 20

(c) 30

(D) 40

Which of the following is not the

Principle of Growth and development ?

(A) Principle oF Individual difference

(B) Principle of Self-Pacing

(C) Principle of Continuity

(D) Principle of Pattern

9. MLL is basically an approach which

assumes -

(A) All students can learn a task with
minimum level.

(B) Every Learning task can't be learnt.

(C) All objectives can't be achieved.

(D) None of the above.

10. In which area of the following, maximum

Transfer of Learning is possible?

(A) Memorization

(B) Generalization

(C) Perception

(D) Habit formation

B

t4l
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r1, ffi b rgsr< cr6 qssrffio Eii 3r;ildff

3]-dftr vlqftrd t ,

(A) dtft-tstq sraen t
(B) Td-dbqr ar+en *
(c) ffio+iBqr sr{en t
1o; su'fm q t 6I$ T€l

L2 3{ftThrqr 6r qttkr fufl< ffi o{r frqT

,rqr tr
in; kc< qr
(B) qtft+

1cy am.t's. grad

tot fu-+q

1J, gkdkl ?Fr irccrq rqa frw .rar-

su
ffi
Efroq s4
€r$c-{

t4. gk b sg"gkfuar< or cFdqa-{ frqT-

ffi{
erg{

*cd
iTrdq<

(A)

(B)

(L.)

(D)

(A)

(B)

(c)

(D)

xrx- 1

11. According to Piaget preconceptional

and intuitive Period is related to ;

(A) Sensory motor stage

(B) Concrete operational stage

(C) Formal operational stage

(D) None of the above

12. Drive theory of motivation has been

given by -

(A) Victor Vroom

(B) Maslow

(C) R. S. Woodworth

(D) Skinner

13. Concept of Intelligence Quotient
has been presented by -

(A) Wount

(B) Gilbert

(C) Willium Stern

(D) Simon

(IQ)

15. Identify the category which does not

describe types of transfer of Learning :

(A) Positive, Negative

(B) Horizontal,Vertical

(C) Unilateral,Bilateral

(D) One tailed, Two tailed

tsJ P.T.O.

1s. 
"q ffi drf,drfrd$ o#nrqbeflqffq
b q6Ttt 6i qfrd +ft m-rft ,

(A) €]-{rFrF, autrf,r.F

(B) 66r, sdu
(c) u6 qafq, Bqftq
(D) u-o gdu, ftq-drT

SET-A

L4. Multiple Intelligence theory was

propounded by -

(A) Spearman

(B) Thurstone

(C) Cattle

(D) Gardner
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16. qft ffi d-d dr qqRffi 3Trg 5 ES 3t{

mrorSoFro sng + a{ t, dr ed d gffir
mr drftr
(A) 125

(c) 120

L7. ?fl+sr{6 + ffi E qE ftqc =r& ftqr-

(B)

(D)

80

100

(A)

(B)

(c)

(D)

a-srar or ftqq
qqrd 6I frqq
$a-d-6c EI ftqc
grqrs 6r ftqq

18. ftrsor olcra t qqRrd ftq C t otc tl
(A) qqFgd c{ fttilqr

(B) qa=it of 6d 6<dHT

(c) es{ [uqr
(D) F{t t rrfr

rg. ffi d ftur t eB.u rge*n 6T 3flqx

6-

(A) 3flAgqiFTI

(B) gr6-dc

(c) rfrq6

1o; lu{o t t dr$ i6t

20. qffi frrer,r b il6 61Wr df d scqaRl

or mt qrc ta
(A) 06 frr+d (B) tz fr+c

(c) zq fue (D) eo ft+c

21. srrglrdl-o qait fr .r6-drq tg 6t{ fr ftftI
cqrdcrfr ta
tnl ft-orelffio qrq$

(B) 6nod tFT efuia enaw
(c) qre-o b q+erc o,r qaRra ra-d-o-c

1o; svf+ vtft

SET-A
\

xrx- 1

16. If a child has mental age of 5 years

and chronological age of 4 years than

what will be the I.Q. of child?

(A) t2s (B) Bo

(c) r2o (D) 1oo

17. Thorndike has not given this

Leaming-
(A) Law of Readiness

(B) Law of effect
(C) Law of Observing

(D) Law of Exercise

law of

18. Which of the following is related with

teaching skill?

(A) Black-boardwriting
(B) Solving questions

(C) Asking question

(D) All of these

19. Impotant basis of operant conditioning

in Learning Process is-

(A) Need

(B) Reinforcement

(C) Stimulus

(D) None of the above

20. What is the standard time duration of

a micro teaching cYcle?

(A) 06 Min. (B) 12 Min'

(C) 24 Min. (D) 36 Minutes

2t. Which method is effective in

Identification of problematic children?

(A) DeveloPmentalscale

(B) Case StudY of the child

(C) Systematic observation of the

Child Behaviour

(D) All the above

t6I

Fi
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zz. qrqrfl-jro siwlio fuara or cftqta{ Bqr-

1ay ftrur$
(B) dq d"6

1cy wt+<
(o) arire-61

23 sqfiaft Frfrr it Bs c-6rr b uH crfud
dt Sa

1e; troa frRre on
(B) errqr=q 3ik ftfrie erd

fci b-o-a rrrn€r En
fol qgr{S ezi cFFilglTfr Er,

eqTffiowr d qs-d-dT b ftrd srrosqo
+t-

(A) erq-dr Fmfur

(B) 3{Frir-d-dt d mffi
(cl srfirF<on

1o; so-<ttr mft

25 cTci*ro q<dr or ared t -

(A) 3tsd qgfu6 drrrdr
(B) 3itsd t oq qnfuo zitr+n

tcl sfsd t 3rRr6 qHR6 qlrq-dr

toi sqtro t S 6t$ q-fi

26. uo 3rtqrq'6 * ftd 3{Frdd t B r$ sftrrrc
b frarcii or rfi-ffi sFr di w]fu ,

tal g+r$ sreElTEr.F ml srcddrul 6l
ena:zrer-ars+t 6.) sr{+ d silqdT
frnfi tr

(B) rs$ geqrqm mi gredarcrl m1

3rfir{Fd€it aer 3rfiTsfuiit d srfli
ii mr+m fue-fr dl .

fcl s-st 3r€qrqait 6) 3Tridr b qfu-dil

b drt ii cdr a-d-dr tt
tol fst 6e.Tr{cns{ gfrfr-+a fr*r tr

SET-A m P.T.O.

XIX-1
22. Socio-Cultural theory was propounded

by-
(A) Piaget
(B) lohn Hawk
(C) Skinner
(D) Vygotsky

23. Which type of students are included in

inclusive education?

(A) Only specific students

(B) General and specific students

(C) Only General students

(D) Multi lingustic and gifted students

24. Successful Inclusion needs-

(A)

(B)

(c)
(D)

Capacity Building

lnvolvement of Parents

Motivation

All of the above

25. Concept of mental retardation is -

(A) Average mental ability

(B) Less than average mental ability

(C) More than average mental ability

(D) None of the above

26. A teacher should be well versed with

the theories of learning because:

(A) It helps the teacher to know the

Needs of the Learners.

(B) It helps the teacher to understand

the attitudes and interests of the

Learners.

(C) It helps the teacher to know the

personality of the students"

(D) It ensures discipline in the
classroom.
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27. Yle{FTo. qTc.ff oI il{q fut 6{qr rIFt?

(A) 3lezllq6 6t

(B) tflrul€?TH 61

(c) €enc b crdrd 6)

1oy fr$ssii d t'o sftft o1

28. ftflrf,fr #a+ 1q6q16r gq 3*q dmr

afrS,
(A) Ta rfiuf cFdqa

(B) sso tn qrqq-6'q T(I 6{{r

1c1 omait or rgcnfud dtdq

1o; emoi ar<r ssffdl3i or rfc

2s. qfuhd frrqr d sw-f,dr fuk t -

(A) v5aro b sart q<

(B) ftisvr-srfirTq qmfut a1 saac

goltrdT qI

(c) urqu-ge-of d sqq61q{

(D) swrqdjt d aftgerc-o qR=-fq r{

qrh-o.nit d ftren 01nefto-dr fr dTfr

arkd diifu -

tnl o-gffi , m.s6t d arter srftro dfrrqx

d-fi fit

(B) f,.sffi riwr it dsot t oc tt
(c) +nmm it a-.fdt fi Ecr+ fr a.sfuii

b srer fdtflE ftqr rrqr tt
(D) 6sF6d qlcrho' qFo-d-q 6I t-{d

u<i tt senc dt

SET-A t8I

xrx- t
27. Who should select the Instructional

Materials?

(A) The Teacher

(B) Head of the Department

(C) PrinciPal of the institute

(D) A committee of exPerts

28. Main aim of schooling should be :

29. Success of inclusive education depends

(A)

(B)

(c)
(D)

on

(A)

(B)

(c)
(D)

High Pass Percentage

Completion of Course in time

Disciplined life of Children

Acq u is itio n of comPetencies

among children

Community supPort

High quality Teaching - Learning

materials

High quality of Text books

Attitu d ina I change among

teachers

30. Education of girls needs to be given

priority because :

(A) Girls happen to be more intelligent

than boys.

(B) Girls are less in number than boys.

(C) Girls have been discriminated

against boYS in the Past.

(D) Girls can lead social change.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


31, qp;fuo Hr q-r Erii fi r+rsl+ erq-dri}it 6r
fr"6TH 6-{i or sref *-
(A) trrG-6 Fqrii q< sftroR
(B) t{fto, d€fl3ii w srRro,<

(c) tTIsI trq)-Ir d gvm-o q< erRr6.R

(D) tilsT 3rd6{uT I gvirar w sTftrdR

32, r.rsr 6tvrd d fua"r frfu d -

1a; rgo<w frRr

(B) vrqtro frRr

(c) rrET q-o}ryndr

1o; svtm efr
33. 'te\ 3fu fuil'Frer"r Efti ryo o-<t d-

(n) dfuo r+cr it
(B) fti€r rdqT ii
(c) gd 3lFrefu d

1o; tu-<tm efi
34. mfr'ar-frreryr m qrr sirr t-

(A) effid€r

(B) srdref drr

1c; wronf du
(D) qaq Elq

3s. 6 otr vr oTil{ t E} rru d e-gtr +dr t,
,r{q{c#f-
(a) itq drfi
(B) ffiarf Emc

(c) sIoflT 4rf,{

1oy euir am+

36. dt dTf,-ot # o-sa1 srfu 6l B6rfl 6-{+

oi sofRro sqgffi crwc t-
141 r6grtii d ffi
(B) qR{n 6 6-drM
(c) rg.t$& d 6ffi
(D) ffir-6 6Qld

SET-A

xrx- I
Fdq ' Frqfrfua rraicr 61q-.66q [d rr+ cr{i

(cFdrgt 3z S 40 iriil bsqfRr63qgffi

r+q ard fros or rfi ffiu-
cr+q 3f{ ftq-ordq 3nd sTrq:}it-

tiqa, rrga, sqgyr 6r at* vrdtFm efi,

Hq sq ii t Jq-rdT d rs w it r+or qrosFm

atqr fi ro{ qrl fl tilsri}ii ti mtRto' ftsT
Tdt #, BE srfrq tTIsBit it w Fsr c.&r

riqd t srg6, crf,d t 3rqgcr 3fi 3{c$cr

t r+< tTrcd d 3flqk6 end eTrsBit 6r
ft-ors ganl Usr ftycrs fuqr arcn ro t
3ik Fsb frE ftrdm rft G qu *, fuq s*
z16 sxutt fr ffi qr tirrdr 3nft 3{qgcT S
ftaffi, qdEd d gff tr ar+q ?flsmt i
dqd 3rk smt'vr t ega gu frqr tr ffi
t ffd fr{rfld 6} s{$ sPro u-aur Bqr-

fr*s sq t 3{c$cl d,l E{rsd ait sr€-

T{i, 3ErRq aer qro-<Dro di b oro{

dIt t orcgcl srFs d ffi srtrs or
sirr r€t cmr dT rftFerr, fuS +r.r+ * tru
Trr6T 3ltqq{ srne-{6 tl

37. dqa t ftn iiiiq fr-s rTrw 6r ta
(A) srf-d

(B) 3{q$cr

(c) 3flgfro rrr{frq tflsru

rol ftd
38. s{qgsr a} H srR-s or sirr a qrq+ b

fte ffir 3iltrn *?
(A) srq-v{d afr ftr+dT

(B) qm<Fm cii C Frddr

(c) ErRu t Rrc-dr

(o) rq-Str qtft

tel

qNIgEIII - Gd

P.T.O.
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t10I

3s. €q-a mr eir fu-{ frqlil6 ftqa me

rnl srtfrro
(B) ce?Tffiq

tcl qrdtftro

(D) ai*q
40. qirpft-o ffi S fru fr-sor siwqc

erosqo ta
tat {qp-o
(B) 3rqgeT

(c) srs-d

tot ffi
4r. tmn erreift'Bx qrsl fr r+fl tr

(A) crp-a

(B) {iR?d

(c) ffi
(D) ffiTl{IsI

42. 'vrs'trr dl-6-cfta srd oearat B-

tnl Ertfi?i
(B) msp,
qcy airanf
(D) flit t dn$ T€f

43. 'tftqeT orqtq'3fu fu-q 3m'rd d ti
(A) arrl
(B) r{rt6
(c) qq-d

(D) aufi

44. '{fu-a'sre a;r foim caEs-

tnl orfifua
(B) 3r$fu4
(c) $-dfud
(D) sq$fud

4s. 66 arfu ffi gcq it qra rss rlar t,
T$6-dt{ -

(nl frt{rd
(B) 3nris{
(c) rfrqq
(D) 3il8lcl

5ET.A

xrx- L

+0. darft ,il?ii fr $sr d-

(A) 30

(B) 32

(c) 33

(D) 35

47. 'a€d'fi'crd it 6tq-S €fu da

(A) srqlk qRr

(B) *d dftI
(c) q"r dftr
(D) Ek€ftr

48. 'fiir& t qm dm+'5sat a;i sfr $"d t-
(A) dR-ddT ii s{Fid qrqr
(B) qts 16 oq-{r

(c) 3flidcq *fi fi+
(D) Eq-+q +qT

4s. 'eqFn{ t {64 srdfi e}t'Erm t-
(A) goldrd-6

(B) Hrffim
(c) frtraa qRoTrrdtEd

(D) 3lfrtr{a qRvnrqla-d

so. 'g€r d E-flr, qw g<r, crcq g wct
g=ffic' rm,ifu Bs 6fr # t -

(A) Hqvi6-{ s-srd

(B) EFnFia;T 
qfl

1c; fr<ror
(ol Cfirfrvxq gq

sr. frqiftn-c fi srccqrq €aft d -
(A) rr

(B) EI

(c) rt
(D) fi

sz. ',F q We €R m6d t riqre'qd it otc-HT

orq-ds *r
(A) qrqd
(B) fuqd
(c) 3{rfrEd
(D) tfr o6a
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s3. 's{6qT'6r tider ftq15o tt t ffi ta
(n) *c 6rq

(B) crq HrFs

(c) fu6 srtr€
(o) <tril 6rq

54. 3T[ddrd qrrx b ffiq-{6 grqrcI'rtFrfl

or rs'ti ffi Btfi or fuaur frqr rrqr

ta

(A) q{ils
(B) gd+-drq

(c) t"Tq

10; ffi
s5. ffirr rpn etTr qM if wr var#e

t fr mr, a sTrfr E) S a-odz

d fr gft, 9fu-6r 3t{ *ofl,

drftCE,ffiqr8un
ro qe C otc-qrw te
(A) qTfr'fr

(B) yTrftrS

(c) U-d.ft

(D) r<dErr

s6. rragHbre,q*iftn66oq*frq6r
rdqidtd?
(n) en$ r+rs

(B) cnfr {{r

(c) 3rgtnd

1o1 e'Frar$ ura

xrx- 1

fr{vr , ++ ps rrs cEisT ol q-omq [& w cp.it

(ccr dqr sz * so ro) S sqfftro scgffi
r+< Er& fuo-e mr irtrq dlGu-

6R {drf, 6 b, fu-<uit t ffin rr*
*or q-6 tq-fr crd', +{d gefi qr

++t {a qB # dFrf, fui ol aq-ar

3Tri drfi frq a-rrq b eq ts-
srs scb sTt grf,iq e} gdt q*,

er< 3ntt qmq, UHa 6h,fi qd{

;a rsd deft J-{b eftrqi t dr6-r
u< tfr go-d d il6{t t qo=it air

s7. rqa wivr 6r gs cftqTq t-
(A) rFft fudq
(B) qrrtrq furur

(c) sff<T o.r fuz"r

(D) Aq-d uQ d ma, mro or fuaur

s8. 'gwru uB EH'B-s crq-ftq r{rd 6} eaRfu

mqGda
(A) 3{rEr€r 6r
(B) a{ or
(c) E6€rdr 6r

1oy ftiar or
s9. 'cs< b Eq aeal dfu or sncrq t -

(A) EH +qr
(B) aru-d +fl
tcl c-eft * tc Ei-+r

(D) silvn wf ren or du*ur dFT

60. 'ar* qlo 6 b, Broit t #rrq qT

*or qe tr;a H?r, ftqu ES qq l'
r+ dfuzit it otc Hr adm.n tl
(A) 3qcr

(B) sqd,

1c; rr+#o<ur
(D) glftcrl
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Direction (Q. No. 31 - 32) : Complete the

sentences by filling in the blanks, choosing

one of the given alternatives.

31. Gita was known to be a 

-, 

so

nobody entrusted any impoftant work

to her.

(A) joker

(B) worker

(C) shocker

(D) shirker

32. The police sprayed tear gas

on the protestors.

(A) indirectly
(B) intensively

(C) indifferently

(D) indiscriminately

Direction (Q. No. 33 to 36) : Read the given

passage carefully and answer the questions

that follow by selecting the most appropriate

options.

Long ago men spent most of their time

looking for food. They ate anything they could

find. Some lived mostly on plants. They ate

the fruits, stems and leaves of some plants

and the roots of others. When food was

scarce, they ate the bark of trees. If they

were lucky, they would find a bird's nest with

eggs. People who lived near the water ate

fish or anything that washed ashore, even

rotten whales. Some people also ate insects

and small animals like lizards that were easy

to kill.

Later, men learned to make weapons.

With weapons, they could kill larger animals

for meat. These early people had big

appetike. If they killed an animal, they would

drink the blood, eat the meat and chew on

SET.A
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the bones. When they finished the meal,

there was nothing left.

At first, men wandered from place to

place to find food. But when they began to
grow plants, they stayed in one place and

ate what they could grow. They tamed

animals, trained them to work, and killed them

for meat. Life was a little better then, but

there was still not much variety in their
meals. Day after day. people ate the same

food.

Gradually men began to travel greater

distances. The explores who sailed unknown

seas found new lands. And in these lands

they found new food and spices and took

them back home.

33. What did men eat if there was

shortage of food?

(A) Rotten whales

(B) Bark of trees

(C) The root of trees

(D) A bird's nest with eggs

34. If men trained anirnals, they made the

animals for them.

(A) race

(B) search

(C) work

(D) hunt

35. The phrase 'live on' in the passage

means-

(A) to eat a certain kind of food in

order to survive.

(B) to eat greedily.

(C) to eat anything that you are given

to eat.

(D) to depend on plants and foods for

a livelihood.

t12I
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36. At first men wandered from place to
place to find food, Then some of them

beEan to stay in one place. Why?

(A) because they began to grow

plants and ate what they could

grow.

(B) because they tamed animals and

killed them for nreat.

(C) because they trained wild animals

and killed thenr for meat.

(D) because they began to grow

plants and fruits and ate what

the ,"* could grow.

Direction (Q. No, 37 - B8) : Find out the
part that has an error in the sentence given

below. If the sentence is free from error, your

answer is (D).

37 . If I was you / I would,nt accept / this
A

project / I\lo error
B

C D
38. The Director along with his assistants /

A
have thoroughly examined / the new

B

p ro pcjsal / No error--a-- 
D

Direction (Q. No.39) : Choose the word

nearest in meaning to the underlined words

in the sentence.

39. He is a very hard workinq man

(A)

(B)

(c)

(D)

SET-A

Diligent

Desirous

Ridiculous

Dominant

xrx- I
Direction (Q, No, 4O) : Choose the word
opposite in meaning to the underlined word
in the sentence.
40. His behaviour with people was always

friendly.
(A) charming

(B) hostile
(C) courteous
(D) sincere

Direction (Q. No. 4t) : Fill in the blanks
with the correct options to make the
sentence clear,

4L. A book is essentially not a talked thing,
but a written thing; and written not
with a view of mere but of

(A) communication,permanence
(B) enjoyment,fullfilment
(C) transportation, continuance
(D) delight,abandonment

Direction (Q. No. 42 to 45) : Read the poem
given below and answer the questions by
selecting the most appropriate options.

"Will no one tell me what she sings?
Perhaps the plaintive numbers flow
For old, unhappy, far off things,
And battles long ago:
Or is it some more humble lay,
Familiar matter of today?
Some natural sorrow, loss crr pain,
That has been, and may be again?
What'er the theme the maiden sang,
As if her song could have no ending;
I saw her singing at her work,
And o'er the sickle bending;
I listened motionless and still;
And as I mounted up the hill;
The music in my heart I bore,
Long after it was heard no more."

I13l P.T,O.
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42.'Plaintive' here means-

(A) mourntul

(B) joyful

(C) longing

(D) languishing

43. 'Humble lay' means-

(A) Serious words

(B) Simple song

(C) Exuberant thought
(D) Joyful melodY

44. 'The music in my heart I bore' means:

(A) I carried the memorY of the song

(B) My heart was heavY with sadness

(C) My heaft was full of deep feelings

(D) The music gave me great joy

45. 'Familiar matters of today'means-
(A) current news

(B) simple events of day to day

(C) important matters
(D) known incidents

Direction (Q. No.46 to 49) : Choose the

correct alternatives to the sentences given

below.

46. A unit of pronunciation having one vowel

sound with or without surrounding
consonants is called-

(A) syllable

(B) word

(C) syntax
(D) lexeme

47. Commonly used 

-- 

maY include

class participation, demonstration,
recitation, memorization or a combination

of-these.
(A) Teaching methods

(B) Teaching skills

(C) Familiar examPles

(D) Ideal evaluaUon

SET-A

48. The problem ofspeaking English can be

solved by-
(A) Practising
(B) Buildingconfidence
(C) Reading and sPeaking more
(D) All of the above

49. The problems faced by a teacher in
teaching English are: -

(A) Lack of teamwork and suPPort

between students
(B) Lack of teaching aids'
(C) Over-crowdedclassrooms
(D) All of the above

Direction (Q. No.50 - 51) : Give suitable

one word substitutes to the sentences from

the given alternatives.

50. A person who insists on adherence to
formal rules or literary meaning.

(A) Scholar
(B) Pedant
(C) Pedagogue
(D) Literalist

51. The use of many words where only a

few are needed.

(A) circumlocution
(B) circumspection
(C) circumspeation
(D) circumvention

Direction (Q. No, 52) : Choose the following

alternatives from Direct/Indirect which best

expresses the sentence.

52. Naren said, "Why are you still waiting
here Vinod"?
(A) Naren asked Vinod whY he was

still waiting there.
(B) Naren asked Vinod that whY he

was still waiting there.

(C) Naren asked Vinod why he is still

waiting there.

(D) Naren asked Vinod that whY You

were still waiting there.

lL+l
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Direction (Q, No. 53 - 54) : Replace the
underlined idioms/phrases with the option
correct in meaning.
53. He advised his friends to do awav with

their differences.
(A) Bury the hatchet
(B) Bury the dog
(C) Bury the corpse
(D) Bury the enemy.

54. He has the ability to sDe k easilv and
persuade others with his words.
(A) gift of the goose

(B) gift of the horse
(C) gift of the gab
(D) 9ift of tuck

Direction (Q, No. SS - 56) : In the following
questionsr the sentences have been given
in Active/Passive Voice. From the given
alternatives, choose the one, which best
expi-esses the given sentence.
55. We all know there is only one God.

(A) We are all known that there is only
one God.

(B) It is known to us all that there is
only one God.

(C) We have all known that there is
oniy one God.

(D) Only one God has been known by
us all.

56. He added up the money and found that
it was correct.
(A) The money was added up and

found to be correct.
(B) Correct it was found and the

money added up.
(C) The rnoney added up by us was

found correct.
(D) The money was correctly added

up.

P.T.O.
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Direction (Q. No.57 - 58) : Fill in the blanks

with the correct word in the options given

below:

57. India is a noble, gorgeous land,

teeming natural wealth.

(A) which

(B) with

(C) of

(D) in

58. Many diseases were formerly attributed

witchcraft.

(A) from

(B) to

(c) by

(D) in

59. A method of teaching English grammar

in which the language is taught not by

rules but by usage is :

(A) Informal method

(B) Inductive method

(C) Deductive method

(D) Incidental or Correlation method

60. A test which measures a candidate's

overall ability in a language, and is not

related to a specific course is :

(A) Proficiency test

(B) Achievement test

(C) Diagnostic test

(D) Prognostic test

I
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Fr{vr ' Frqfrfua rsiEr 6} r6fi [e rrs ccit
(61 * 64 il6) b e-dfRrd 3qgm rf,{ drd

fr6-fl 6I oqc dTfru -

ar< re,it t ryft 6crt srq+ 3nfi

6- o-€t TI{r {Hfud qr g<{ w it; o-€t

5d &+d qr 5-6vr sq it; m-€i rrq, ftvnd

qr frfue sq i; odt JII, ?r<lET qr qcio<

sq itr trd 6ft or ecq rsb gc sE wit tt

dt{ ildr t, wiifu svb rg*m 616r{ul

3{q;rr Eil-fl gu rtrr r6t, Efts fu{ qlE{d

axr qftFrd srsrr * * bild c5"ffi rq'q

u-flr b +{q dil<, {ffd iirqq qgq-FR,

aifrd-Elad ftgm 3A< fi-a-o gq-ssf
sffr wrfr fr Tdf B?Tr d-{i d, A ftsS
qr $r,rftE dt S u-ox d b-d-d gtrmrg

frqftE ftd r{6?TllT-vlrrd-sld, 3rf,l'd

Esrro firR Frq< + ffi qE amqra *
rpfu n6 t T& 6$ €r6-i-ffi6T b +{
ftfrtrduf g<w d tdcrmdr, trqar efr{

ft'fud-dr fr fr srq+ Edq b fte gu vrt t, i
dqrsdq d- vd +ngo qr secq q€it

or. fqo b agsr< uo sd oE mr acq B-s

3iR fi-{ qrfl.rqr t -

(A) qrffdr fr t-dr fr

(B) epfr fr-{ur t
tcl qrB-e r+qr it

1oy ranoimnii o) clq d-{i ti

oz. #qo f c-fft b fu-s-fts w ol orq b
fts 3n'ds{6 qrqr tt
(A) cqr at* gcBa-c w oi
(B) 6*i 3fu rg<* w dt
(c) 6t{d atq uo}q sq 61

(D) sfifr et< snnfr-o qq oi

xrx- I
ol. frqo + c-fft * drc-d Ed cq{ sq 6r

dofc 6G dtdt d wr CI-ro-< edRrd foqr

ta
(A) tffidq
(B) H*II tTrg6 eeq dft
(c) 3dR6dq

(D) qrkn ifr
64. rpfr dr 'fur-si{ft' d €sT R t * nfi

E?

tel c-Sft b qqr rqiaFit * f" *tail 5
tFRur

(B) s;q t Hrer rri b ot<"t

(c) spft-fc S orqur

1o1 vryf a{d t fc-tfl'd b onur

Fr{vr , Frqftfu-a rdsr 61 q-ro< qd.ru cs+
(es * oe a-o,) b sdfftro lvgm r+< ad
ft-o-eolrindlfru -

m risx g,EI tb-f,dl t, d-& 6E b
frt gra tr rc at{ M, w sft vo,

fta.r 3ilr gk, A ffiIftd dHR 6] EIt
66qI frkd oq d, oft b fts qd s{r fr
sn-odq qdf t, 3sb qld 3rt{ mo{q A
E-q d gfi 6S e{rcrfi 3i{ ftA 6$ eftd
stk qt W e-dq b 3r?{, dt Bq ft-q r<
for$d d sea;i iq c-{Fn, 5s fr{ {6
6B a {hTIt asic #fi b rc rfst t
b-d-d ffid orar tt 6E r+t mq d arat

tr
os. d-qo b rg*rn s-d dfr d bv gor ot

*+ errorcro t-
tel arefft"dtdT

(B) qd b cft 3{refi

tct ft'src
(D) uo is ftiro

lT|qTfr#q_H
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72. 's{€-e'qB'or or {'q6 ffi fuqrr
(A) q. c-6r+r q-srd Bi&
(B) dr{sqlc g<{ ErH'

(c) srsrd qm+< sJffi

(D) ,lr{+€ 6Ra-d-<

73. gFdqrttrq trfu Rqdrq S +€Ir[6 6tq ei?

(A) fr nmpad
(B) fr Emt+rud

(c) fr r,€dmd

(D) fr ftqa;f-urd

24. 'Erei rsrso.c 6rqc'rm oerc fu-g 3aard

or ta
(A) frrl=IreI (B) qrtr6

(c) freaqr?r (D) q<agfr

7s. '#<srq oi a-eq t-
(A) strdq

(B) &Tr{

(c) aft{

(D) g+ii t 6t$ TS

76. "crrdr;rF{ riTr c-& t Fffi-d-ft t" {fl dkg
tt'rirn rfr t' d 6t{ sr orro t-
(A) 6{ur (B) ssrdFr

(c) 3FndFr (D) sw{r
77.'aa' ffi gar f,' ge orro t at+ er frd!'uT

$rtrr

(a) gqEmm

(B) rie-d-dt"6

1cy afu-omo
(D) a+t t 6f$ Tfi

78. ffi frfr - yq 
6s+ t-

(A) sffi ftfr t
(B) SBd ftfr t
(c) sd frfr t
(D) YrrdT frfr t

t

I

Ir71 P.T.O.

66. trs6 i Sfi 6$ 3rmrcit, FE 6$ Fdtdt
sft qe Es Edq S 3fi-Sit ol mr crfl t-
(A) 6ft or ffiur
(B) oft b gro{ur CI'r h
(c) +fi 6,r scq

(D) qrerxur qfu or sflo{ur

67. 6ft fi-fi b ft-c ceit t 3afud dro-< ore'
r+cr 6-{dr t-
(A) +frft-o ge Efuircit t 3Ir6tra drdx

(B) at*q 6 qrsmit at< gdt a'r uti
tdt{ 6<h

(c) arcfft-o aaii or srq crq o-t*
(D) *d-{ d vlrsrit * qdrfi 6-rb

68. u6 ,€ 6ft C *cd 6ftd b Wit or sia

os slar da

(A) a-d or nlrit # SS 3Trcmf, fuea
qfuit mn g'6 Arc b atgsit o1 t
er$r

(B) enr<q qRRftr<it a) g's an or<ur

qlri dill
(c) 6rq d Vfr qc, *+n rur M fu

otr
(D) f,{if*at$rstr

6e. 3Afrd ftaFil b 3{ftrsrar sflqrd ot{ fil
(A) 3rFiefffq (B) EIrrt=I

(c) gra6 1o) e)+<

70. 'qRro' r++ ts 6ft d -

tel qrq+cra rg{*
(B) qd-6id ffi'F-{ar
(c) {6raff Ecf

(o) utiBlg,cdl dt6H
zt. qrdfrfu {rqrqur d Bs fisr or rciIII ftqr

rnn ta
1n; ffi (B) dqd
tcl rqeft (D) sd

SET-A
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7s. ftft 6T gPf *.
(A) ali ffi ar aar

(B) afqrdr'6r ftfua sq

(LJ e(9ii

(D) EaH frE or frfua sc
80.'um q< +i ffi-e+S dr*r, gsb plfko

fitrareiolqi=efrs3{ffi*-
ql; Berarfi';ETF-M

(B) u'uT e-ctrqTim

(c) qilffis *srE

(D) Hrfifr-o sr<,fiirqr

81. El"t b frfua' m'nf & s+mac it s-dfftro

rrdpf *-
(A) Td+

(B) mm ftqm
(c) aeq cT-et 6T qqlT

(D) 3rFre-m fu-fi

Bz. ftEifud sTqi it * dd+frq arcJd sr€

ddT$u -

(A) cftE (B) 6fr8
1c; snfhor-* 1o) grsn

83. frqifu-d orq rifu it onior< carsu-

Eq Fs qr+a grm or t Ha or cgqq r+fr{l

gubae drurero< rn-ftc-6MtT6Eqt 
t

(A) frtfldrT

(B) fuiT
(c) qqdfu

(D) ft-tern+rs

XNX.1
84. 'qr& oi &H +{r'$H Tfliat ar r-ri:ref

mr t;
(A) E-gd sfl=ror +qT

(B) e.da gmi rt+
(c) 3{fur* kEr< oi st+
(o) rqq{i-< 6T drrT

85. slp-Ift-6 H{ q-s Eifr e& eae-i$ eird",,3i.5T

E-6rs 6i-+ or $d *-
(A) ,nftqr- FiqC,' qs 3IBior<

(B) tnft-'6 rird-+.'C qq :rftrox
(c) qwr y-drr o1 gera-m l'{ 3r&Ex-
(D) tw aEo<q fi gwa-arlt qq s{Br6iq

86. qftFqq ftierq o1 a-6'q-dfr 3r,teilsof 3{ftr6
rfd-d d, fr-qi -
(A) Er, fr'qq t rdj6{ur of ai< ait l,r
(B) ua qzi mr cqhT 6-{i dr
(C) Er, fut ?n ti;oer o< dt dr
(D) 6Er Jdi-dwT t Eqq 61 sr)< s-,d f ;

87. ftqrfua it + ft-€ cre ii ,rq,sqrs 
Sa

(A) dErd (B) qril
(c) 3Ft<i qo; +i)e

88. 'rrgq' 6T qqffi qre sargs -

1n; ofrea-s (B) iTqq-Eeds

(c) E6-{eaa (D) Es€Tfr
89. aeiq qE or orpf t-

(A) qTfr-oT +d
(B) 6T-qiiT frAaq
(c) w Frefr
(D) 6rq b Wr-ds

so. oeffi-frrerq 6T cgs t'd€q t -

(A) Bc-q b <-gqdrT fr fuen t-+
(B) {eqlft a1 erq-or or ft-ois m-r+
(c) 6-s{r qfu 6r ft-ors or+
fol ftq-q rg 6r drq srqr 6-<=rT
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62. The house is infested

(A) of
(B) in

(c) with

(D) by

Direction (Q. No. 61to 63) : Fiil in the blanks

with the correct word from the options.

61. He is an authority _Literature.
(A) on

(B) of

(C) in

(D) to

xlx- 1

66. There are biack sheeo rn every

community,

(A) bad characr:i-s

(B) generous oecoir

(C) shepherds

(D) ugly peooie

Direction (Q. No, 671 : Select the rnost

suitable conjunction and iil! in the blanks"

67. He plays in the orchestra and

as a soloist.

(A) both

(B) also

(C) among

(D) either

Direction (Q, No. 58) : Seiect the most

suitable alternative and fili !n the blanks.

68. 

- 

you please help me with this?

(A) would

(B) should

(C) shall

(D) must

Direction (Q. No. 69 to 71) : Setect the

word with correct speiling for filling in the

blanks in the following sentences.

69. A disease in one that can be

passed on by physical contact.

(A) contagious

(B) contiguous

(C) conteguous

(D) conteeguous

rats.

63. He boasted _ his accomplishments.

(A) of
(B) in

(c) at

(D) on

Direction (Q. No. 64 to 66) : Reptace the

underlined idioms/phrases with the option

correct in meaning,

64. He agreed to carrv out my orders.

(A) execute

(B) maintain

(C) Iisten to

(D) refuse

65. He turned a deaf ear to my advice.

i

(A)

(B)

(c)

(D)

SET-A

listened

agreed

disregarded

respected
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70, My role is
associates.

to that of my

(A) complimentary
(B) complementary

(C) compleementary

(D) compliment

77 is a word for the sweet course

of a meal :

(A) Deseft
(B) Deserrt

(C) Dessert

(D) Dassart

Direction (Q. No. 72) : Choose the correct
pronoun (reflexive) to complete the sentence.
72. Jim bought_ a book.

(A) himself

(B) him

(C) themselves
(D) yourself

Direction (Q. No. 73) : Choose the correct
auxiliary or modal verb out of the given
alternatives.

73. I _ swim across the river when I
was young.

(A) could

(B) should

(c) might

(D) must

Direction (Q, No. 74) : Select the correct
antonym (opposite meaning) of the following.

74. India's struggle for freedom was led by
Mahatama Gandhi.

(A) Libefty

(B) Liberation

(C) Misery

(D) Slavery

SET-A

xlx- 1

Direction (Q. No. 75 - 76) : Select the most

appropriate word to fill in the blanks in the
given sentences.

75. A person who does not believe in the

existence of GOD is

(A) Bigot

(B) Auditor

(C) Egoist

(D) Atheist

76. A perso n who hates mankind is

(A) Misanthrope

(B) Mercenary

(C) Honorary

(D) misogynist

77 . Which of these cannot be termed as a

language sklll?

(A) Reading

(B) Writing

(C) Speaking

(D) Thinkins

78. While teaching a language a student

should be treated as which of the
following?

(A) A model

(B) A subject

(C) A guinea pig

(D) A different individual

79. A phoneme is a :

(A) technique to improve pronUnciation

(B) single sound untt

(C) sound pattern

(D) lexical item

rri

fr
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80. When languages are learnt without any
practlce it is called as :

(A) learning

(B) first language
(C) skimming

(D) erudition

81. A reading activity where students
focus on phonemic sounds, pronunciation

and intonation can be used to assess-
(A) analysis
(B) literaryappreciation
(C) reading accuracy
(D) inference

xlx- 1

At the dawn of history India started on
her unending quest, and trackless centuries
are filled with her striving and the grandeur
of her success and her failures, Through good

and ill fortune alike she never lost sight of
that quest or forgotten the ideals which gave

her strength. We end today a period of ill
fortune and India discovers herself again. The

achievement we celebrate today is but a

step, an opening of opportunity to greater
triumphs and achieventents that await us.

Are we brave enough and wise enough to
grasp this opportunity and accept the
challenge of the future? Freedom and power
brings responsibility. That responsibility rests
upon this Assembly, a sovereign body
representing the sovereign people of India.

83. When the world sleeps, what will India
awake to?
(A) life and freedom
(B) new morning
(C) democracy
(D) none of the above

84. The expression 'Tryst with destiny'
means:

(A) to make a secret deal with
something that is destined for us.

(B) to compromise with something
(C) to wait for something
(D) usual practices and religious rites.

85. Out of the following which one has the
opposite meaning to the word
'suppressed' in the passage-

(A) Subdue

(B) Crush

(C) Incite
(D) Conquer

l2t1 P.T.O.

I
l

l

82. Problems of spelling errors of the
students can be easily solved through :

(A) dictionary
(B) text books

(C) dictation
(D) teaching aids

Dire€tion (Q. No. 83 to 86) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option,

Long years ago we made a tryst with
destiny, and now the time comes when we
shall redeem our pledge, not wholly or in full
measure, but very substantially. At the stroke
of the midnight hour, when the world sleeps,
India will awake to life and freedom. A
moment comes, which comes but rarely in
history when we step out from the old to
the new, when an age ends, and when the
soul of a nation, long suppressed, finds
utterance. It is fitting that at this solemn
moment we take the pledge of dedication to
the service of India and her people and to
the still larger cause of humanity.
SET-A
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86. Accorciing ro the writer what pledge

shouid ae taken by the people of India
at this soienir n-loment?

(A.) that rhey will cetebrate it with
grand iervour

(B) that they will work for foreigners
(C) that they wiil work for the larger

cause oi humanity

(D) None of the above

Direction (Q. No. A7 to 90) : Read the
sassage given below and answer the
questions that fcllovs by selecung the most
appropriate option.

As heat disease continues to be the
.:umber one kiiier ir the United States,
researchers have _hecome in creasing ly
interested in identifying the potential risk
iactors that trigger heart attacks. High fat
diets and life in the fas ane have long been
known tc contribute to the high incidence of
heart failure. But according to new studies,
rne list of risk facters may be significanfly
;onger and oLj it€ sur!rising.

Head failure aDpears to have seasonal

anci temporal patte!-ns. A higher percentage

of heart attack occLirs in cold weather and
lncre peopie experience heart failure on
Monday than on any oiher day of the week.
ir acjdition, peLlpie are more susceptible to
ieart attaci(s in :ire first few hours after
wel,,ing. Cardroiogisis first observed this
:ro!-ning phenr_rmenon in mid 19g0 and have
since cjiscovered a number of possible
causes. An early ffiorning rise in blood

SET.A

xD(- 1

pressure, heart rate and concentration of
heart stimulating hormones, plus a reduction
of blood flow to the heart, may all contribute
to the Incidents of heart attacks between

the hours of 8:00 a.m, and 1O:OO a.m.

87. What does the passage mainly discuss?

(A) Cardiology

(B) Diet and stress

(C) Seasonal and temporal patterns

of heart attacks

(D) None of the above

88. The word 'potential, could best be

replaced by whtch of the following?

(A) Harmful

(B) Hatefut

(C) Possibte

(D) Unknown

89. According to the passage, which ofthe
following is not a possible cause of many

heart attacks?

(A) Decreased blood flow to heart
(B) Increased blood pressure

(C) Lower heart rate

(D) Increase in hormones

90. Pick out the word from the passage,

which means, ,very likely to be

influenced or affected'.

(A) triggered

(B) stimutating

(C) susceptible

(D) temporat

t221
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ii. Mro ranur-en{ 3rfu-

tA) qui (B) sis,

(Cl 686: (D) m{:

62. qfiri' {+, clq 3ifu-

(A) T{$fr (B) E(fil;r:

(c) dS, (D) lrSffifla-a,

:: "afr:eFfuffidca{fu-

. r-- - 3;Tfr (B) tq + silfr

: .-= - ]-Tfr iD) uo + stfr

64 qlT sf,t frenam pa sfu-

(A) 3]q{DT, (B) F6ffi
(C) ['a]sq-drsra, (D) gk1Tt{

6s. 6ft 6Tro.rFT Hfu-

(A) sq

(c) ski

XIX- 1

68. +nflfr6i{, gfr 
=ue; 

JdiF{lTEfu-

(A) md efrrr, .31 FEIE qF.:

(c) qrtr{ Esi: {D} T6 g|6.i

69 'snf E m-.qr q-taltr m'aqfu, offi
3rk

.7. ''-t*ruicirizrF{,'q}ur or fuifu l]-dft-

(A) Tia,S (B) qBfr

(c) sel (D) ff&qr.

SE?-A

(A)

(B)

(c)

(D) t(l9aJrdct:

70. 'q-d+id H-qt' Ffu ezc F-erd qRlrfr

s(Td'-

fnl o-dlqFrs,fr

(B) ea-ffiisE

(c) Eusffi
1o; n'ro-qffi

7t. 'qa'.ia a'k-

(A) Ers
(B) 4E;r€r

(Ll tq{d..:,rlrt/

(D) 6T{6-tr

72. ad-{c Fft qt s-ffiq, 3{Rfr-

(A) qq iB) Bq
(c) uq (D) o-gq

S+ntsr-icYrT--s-*A

sf{{fqErff

ffi

1237

tflqrB#q - riga

P.T.G.

(B) tlEI

(D) 3r€

66. qEritTc cA vq"rs' 3rfu-

tA) s6frB' (B) arq6e{rd.

E-(L) Eri (D) a..drnrq,
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.l
:-

73. afrgq: (f,{r 3{fu-

(n) mroqref'

(C) dcrsqcnq

(B)

(D)

tFIdtrIEKFI{:

HIRErafuT:

74. gq urd, qc o-ort ctqq T5q ffi
sdsfu-
(n) gfuqer,

(c) ceser

(B) s8&r?I:

(D) gfiuqQr

75. ',qTqtTrrl', sft frqrrcs erorq, s{fu-

(A) a( mFIr: (B) e( EftFR:

(c) & d6T{, (o) ftftfrs a-ox,

77. cJ-d crEt d-di -

(A) dTtffir

(c) ei-ffi{r

(B) E+dFr

(o) s}rsqr

Fr{qr , (sri dqr 7s-sl ) ftqftfud rrqitrrFalci

cc-{qi qgffi ffi{rDr fuga-

arfu rffi frt frcnd, cnsfrils,t T,
frfrtr tieq: silrrs qldtur, qrfr Fr+sFfi

st 3{er Edrftq ffirsflrrri rrCt

3lwr{-o-qsrsqdfuft q{-dfr FgfrB ilqb
uEErfH, nEEkFr6=rrqr Er.t-*I: rqa:
ga?n;eiltu fHor*r. vlqrs€i 3nrr6.fr

ryt-{ 3rqcqqt q 3rdrdq s{t{tr{d-
rq crddsfu asf=i ETdI, T dri fr{
r+Eeftr sft frfuu angdsuaq r

SET-A

xrx- I
7B rffi ft ftvrm Erw qrc ftI?

(A) gca:

(c) ffie;

(B) srecd

1oy o-c&

81. ttzl'fr qrd o"r ftqfu, 
'

(A) qd (B)

(c) Hqft (D)

kft'qr

Tgefi

Fr{er , cFriqr (s2-8s) Ffqftfudirgttrrkarci

cr+qi qgffi rfirDr fuf,d-

s-skb rrR-dd$ EBcffq, fvr' 3{Rfl1 3rfu{
tv) vgdwor, 6ay: qrlg Fr+sfut Efr'
wtvi gw Sfr-orererra I pffi kqr 3r*s
rsrqt c versftt 3r=i ft-{r qn-+#ei i.
q$aft | srflq Es #d-{ qfu 3reflq wFrq,

llrr4trqJ: rrftIqa-drrd refur 34-auq rqd
'3rfla qEfu q-drfr' $frt rl-SqTJq-q{+

1241

76. qeffi orei'+q 3rfu-

1e; arffio-on' (B) $lTEkFT{:

tcl gftsrson, (D) Efra;r<'

79. tII'RI: 6-II frEiTfl 3{fu€q-d

(A) qlsrsfi @rqq

(B) qsq vftqftri

(c) ilsrrrfurd r6-{i

(D) drsfr c

80. '3rqsq-d' $fr srd 6, E-6R,-

(A) mq d-6R (B) qq f,d.n

(c) d)q d6T{ (D) dq d-dT{
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I

82. e{SWOt: E;II, S-d ffi-
(A) qrdg (B) Erqag

(c) d+g (D) TTtg

83. 'lt-dfu'yrd 6: gsrr:-

(A) 9eI+T $5q: (B) rI€zFI g$q:

(c) sfl+r gov: (D) 6]sft r'

84. offi gn a-eft-

(A) Ut

(c) qFat

(B) qi
(D) dfird

't
,i

I

85. 'e-$a trdft Tdtft'$ft sfu' afuq na)

gfue

(A) 4e-dt{rrd-dlft"ilqTq

(B) 6ffii
(c) q-6rq{t

(D) 3firdTccrgHd

85. ElrDtur 3r€rr.r{sT FdfBr, 3rfu-

(A) c-erH frftr' (B) qqr6n ftftr,

(c) 3{rFr+ frfr: (o) qo-sl<rq fr&'

t2sl P.T.O.

xD(- 1

87. srfiunqi qT€4h{ EE s}G.E-crfi-+ drft

vrer{rft q-dfu-

(A) Tdr HTEr;TTH

(B) srdr-Esq qrqTrfr

(c) Esq sr€r-{Ifr

(D) cql.ITs66q

89. Eta Efrqrq @ q qgf.rd +si rftqi
scsf qEFr-

(A) rlr+

(c) c-6s+

90. trsq-dprf, ft-dmrq 3rFHdc a{fu-

(A) fr{tr{ ,t-durq

(B) YArTqql

(c) *drd fq{c
(D) qrdqtrGFr, frgdsurq

(B) 6err6?ri

(D) srdffi

arFrflq-fiq Et, t'q elt' lrsft F', qil

E amc cr+{r qfiH, rsn dmrqft qq -

"drFrd E-sft aeff'aad pffir" Ofrr

SET-A

88. rlNrql: q6qfl{d u:I: 3{eI& raRui 6-tfr

fi aar olofro,-

(A) Jfud-au-s-q{€rT 6-rutql

(B) fhero'ra *Jt{r Er*, vldaxorm

3{rdlfq: 6'{oftq:

(c) gatar<snq ft*sr: dq:

(D) FreTb, q-dmrtur1 6iu?rq
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#v4 (B)

.-J,tJt (C)
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4,,Lq)(ry

SET-A
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91. 4/9, L1/zliren 2gTUr 6rT6irqHqrqir+6

dflT -

(A) 4/L8s

(B) 2/63

(c) 6/63

(D) E{ii+6}$i6t

92. u-o'-tr6 6{b FqqT: 2go7o 6gJ1fu1 15olo fr
qd +i b dorq tr6 *rq qd t iil fud+ qd

tS nl$-

(A) 35 o/o (B) t7 .5 o/o

(C) 32 o/o (D) t7 o/o

93. ffi 6, b, ctFIrlTtuJ tvt taqt ab+bc+ca=O

d a2, b2, .z al qut dEI-

(A) M2 (B) 3M2

(c) 6M2 (D) 9M2

s4. dI d@rd r , z S rdqra tt f;t qE ndo d

7 dr.sr dra d r+i srdqrd 3 , s d arar tt
+iit$c$dqrt -

(B)

91. What is the H.C.F. of 4/9, LOl2t an

20/63 ?

(A) 4/L8s

(B) 2/63

(c) 6/63

(D) None of these

92. Successive discounts of 20 o/o and l5o/o

are equivalent to a single discount of -

(A) 35 o/o (B) t7 .5 o/o

(C) 32 o/o

93. If the mean of a, b, c is M and

ab+bc+ca=0, then the mean of
az, b2, c2 is -
(A) M2 (B) 3M2

(c) 6M2 (D) 9M2

94. TWo numbers are in the ratio of 1 : 2.

If 7 be added to both, their ratio

changes to 3 : 5. The greater number

is-

(A) (B) 20

32

28

24

20

32(c) 24

SET-A t32l

TIFH
Mathematics

(D) (c) (D)

(A) 28

(D) !7 o/o
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20 ilq3ii 6r Fq Bs, x Tq3i b ft-rq

qv b B-{Ts{ tl qfr dni 25olo dr cil x 6r

qH drn -

(A) 2s

(c) 16

e6. qft k{ R t e 16 ari ii slq6t 6T{ d
Ero oo ffi.fia d mn s t n co Erqq

afi glrq 40 ffi.AieT 6, 61sq# ort

d 3tsd aro ffi.6sr 6 66-

(A) 60 (B) s0

(D) 4

s7. s-6 qftD 
'r& b csm e1 frsl d crd dt a

ffi./u-dT d uro t dar t aen csrq b

frqfra 6 ffi./d4T 61 aro *t q61 b co-q

# rTfr ffi.ArdT fr dft-

(A) 1

(c) 4

(B) 2

98. +s fi. b fr'sq it, qu arn vrfi 61 3r{qrd

s , z tt fu-dcr qT+ 3ik ft-flqT ETa B
3rdcrd I , to dt srir

(A) ro fr. (B) rz fi.

(c) rs fi. (D) rz fr.

SET-A t33l

(A) 2s

(c) 16

(B) s0

(c) 40 (D) I

97. A person can row with the stream at

8 Km./hr. and against the stream at 6

Km./hr. The speed of the current in Km./

hr. is -

(A) 1 (B) 2

(c) 4 (D) s

98. In a mixture of 45 litres, the ratio of

milk and water is 3:2. How much

water must be added to make the ratio

9:10 ?

(A) 10 rt. (B) L7 tr.

(c) 1s rt. (D) 12 rt.

P.T.O.

(B) 18

(D) 1s

(c) 40

(D) 5

xrx- 1

95. The cost price of 20 afticles is the same

as the selling price of x articles. If the

profit is 25olo, then the value of x is -

(B) 18

(D) 1s

96. If your car runs from A to B at 60 Km./

hn and on returning from B to A, it is 40

Km./hn, then average speed in Km./hr.

of your car will be -

(A) 60

!
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es. ft-dr d sq, T* t dgfi tr zo a{ qf ft-ar

sqigat rz gcrrr{rrcrErt dtildTfflq

:s 6)ft -

(A) 24,12

(B) 44,22

(c) 48,24

(D) F{t * ot$ +t

(c) { s00 (D) { 600

ror. qft 3x2-6x+a, aia-o x-2 t ftrIIBd d
anr t, d'a' or crq Sfl -

(A) 6 (B) 8

(D) -2

roz. fiq aiot d go ffi risru fl sil o t
[rfd'frqrHddil+f;-

(B) L4s

(c) 1s0 (D) 1s1

xrx- 1

99. A father is twice as old as his son. 20

years back, he was 12 times as old as

the son. What are their present ages?

(A) 24, L2

(B) 44,22

(c) 48,24

(D) None of these

100. How much interest will t 1O.O0O earn

in 9 months at an annual rate of Byo -

(A) { 4s0 (B) < 47s

(c) r s00 (D) r 600

101. If 3x:-6x+a is divisible by x-2, then the

value of 'a' will be -

(A) 6 (B) 8

(c) 0 (D) -2

102. How many three digit numbers are

divisibte by 6 ?

(A) 1e6 (B) t4e

(c) 1s0 (D) 1s1

1341

u

1oo. B% drffi6 fr rc + r 1o,ooo 61 9 qr6 6T

qrs drin -

(A) r4s0 (B) <47s

(c) 0

(A) 1e6

SET.A

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


103. L4F 6elr it 20 EH dft-6. fuflq, 17 rfrrd,

12 dft-d ftarc derT rrFrd +ii qa-t dt to

EEr 3r<I frsq wA dt om d gm ffi
srada

(A) (B) 3s

(c) (D) 42

ro+. qfr 1! + 2! + 3! + ...+100 I dt o t eTrrl

frqr urd, + *qq-d 6,1rTr-

(A) (B) 74

(c) (D) s

ros. g saib ftu gro z 3ru?ff dt udi of ge

ffic-6R * rryr drs6art -

(A) 12o

(c) 100 (D) 2to

roo.qft E-r fi uRfu aer el*mo or s{ift-6 qrq

a-*rE< e\, dt qrs mr sifu-6 qrq drJTr-

(A) t rorf (B) z ror€

(c) + ao$ (D) n gor{

roz.qfr arqa fr d<r$ 61diFT derT # 61

smlr fuqr HrA, d qA 3{r.rd or &amm

ffi ctdvrd eE srlrn -

(A) 50o/o

(C) 100o/o

SET-A

(B) 0 o/o

52

60

3

0

(D) LSOo/o

t35I

xrx- 1

103. In a class, 20 students opted for Physics,

17 for Maths, 12 for both physics and

maths and 10 students for other

subjects. The class contains how many

students?

(A) s2 (B) 3s

(c) 60 (D) 42

104. What is the remainder left after

dividing Ll + 2l + 3! + ...+100 ! by 6 -

(A) 3 (B) t4

(c) 0 (D) s

105. There are 7 candidates for 3 posts. In

how many ways can the posts be filled-

(A) L2o (B) 130

(c) 100 (D) 2to

106. If circumference & area of a circle are

numerically equal, then numerical value
of diameter is -

(A) l unit (B) 2 unit

(C) 4 unit (D) n unit

107. If the length of a rectangle is doubled

& the breath is reduced to half, then

the area of the new rectangle goes up

by-

(A) s0% (B) 0 o/o

(C) 100% (D) 150o/o

P.T.O.

__l!

(B) 130
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L--'

l"o8. e;I b r* gua oi fiqrq zo *fr. t, d
fsor srqd+ drT -

(A) 250 cm3 (B) 1000 cm3

(C) 400 cm3 (D) 125 cm3

ioe. FrqftfuE'ii, ri qft zB : zc = 2 :3 dr

lB drqT{srn -

D

13oo

(B)

(c) 78a

(D) 1300

110. Eifi'ga o1 fr'm 13 +fi. itil g-<ro1 e-6

$ET a,t ri:arf rr: t*. tl #o ol Ea bb=*dt-
(A) rz rifr. (B) e +fr.

(c) ro tfr. (D) rs tfi.

520

A

cB

rrr. qftt2-4t + r = od,d tr* -f 51 qrq

drrT -

(A) 44 (B) &
(c) :i? (D) A".

112. rurq dsafi]il sT srq ft-s frft ar<r Euit
rbi fugtqr srar * -

(A) {tm fiRr

(B) sqlT frftr

(c) (A) frerr (B) atit

(D) fli S mH +ei

5ET-A 'ir'i

E !)

109. In the following figure, zB : zC = 2 :3 ,

then value of Z B will be -

D

t3oo(B) szo

(c) 780

(D) 1300

A

c

110. The radius of a circle rs 13 cm and the
length of one of its Chords is 10 cm.
What ts the distance of the chord from
the Centre -

(B)

(D)

(A) 1 2 cm.

(C) 10 cm.

9 cm.

15 cm.

111. IF t, - 4t + 1 = 0, then the value of

t3
1

t3 15 -

(A) 44 (B) 48

(c) s2 (D) @
112. Which method is used for counting

numbers -
(A) play method

(B) experiment method

(c) both (A) and (B)

(D) None of these

(A) 6so

Hu

xlx- 1

108. The perimeter of one face of a cube is
20 cm., then its volume will be -
(A) 250 cm3 (B) 1000 cm3

(C) 400 cm3 (D) 125 cm3

(A) 6so

B

https://applink.adda247.com/d/XhqWf9lSap
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113. rFkT sRrTq g sr'6m{ b ftu =itE ot ord

frq it t otq H'rElftm kar< orar t -

(A) qrq{d-dJ or fr-arq

(B) 3rftrrq E isqr-f,T 6T frer<

(c) (n) aefi (e) aH

(D) flit t 6l$ +-&

rra. lFn 3rftirrc b 3rtr?r=r 6I fu"drfr firc C

totcsr{6tt-
(A) qro3rq or fuar<

(B) s{ftnc ol fuer<

(C) qe{frr 61 ftd11',1

(D) frqsar or fr-ar.a

rrs. frq it t rrFra olkrq it e-sn6-d{ fr
rog-5 6 -

(A) Errff{ 6-<+r

(B) gdcT 6-{i7

(c) w-ffiqur

1o; su-fo vtfr

rro. frq it t lDH frimr d gw fr€tuar t-

(A) HA-d 3rFrdrfu

(B) g{q€ tlm or c-drjr

(c) (A) dEr (B) +it

(D) f,{ii*6t$T&

SET.A

XIX- I
113. Which of the educational principle, is

functional as foundation for the
assessment of mathematical learning -

(A) Principle of content

(B) Principle of learning & equality

(c) Both (A) & (B)

(D) None of these

114. Which of the following is NOT the

principle of assessment of Mathematics
leaming-

(A) Principle of content

(B) Principle of learning

(C) Princlple of partiality

(D) Principle of impartiality

115. Which of the following is the
Mathematical technique of self-
assessment-

(A) to enquiry

(B) to compare

(C) self-analyze

(D) all of these

116. Characteristic feature of Mathematics

education is -
(A) exact expression

(B) use of clear language

(c) both (A) and (B)

(D) None of these

P.T.O.t37I
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lr 1 j
LD L#'"r*-*' .#-l

or qrq 6hn-

(A) 4e/s0 (B) 1/s000

(c) sl/so (D) 101/s00

rrs. s{ zozo ti ss {ft-dR 6}+ 61crfuo-dr dfi.

(A) 2/7 (B) 7/7

(c) 6/7 (D) 52/sz

11+
21+ 22*_._
t*1

5

(A) 7
11

77 77

6hn-

(B) 7/e

(c) +7/2

5

!

120. qft a2+b2=4s irsrrT ab=18 n *.*

SET-A

(D) +t/3 (c) +t/z (D) +t/3

xlx- I
117. The value of

[#'*.*-.-h] wi,be-

(A) 49/so (B) 1/s000

(c) s1ls0 (D) 101/500

year 2020 is -

(A) 2/7

(c) 6/7 i_, tr1/E)

119. Simptify -

11+
21+

(A) 1
11

l7 (B) 1
77

(c) 1
t/

120. Ifa2+b2=45 and ab=1g, then the value

(A) s/7 (B) 78

5

5

_t 1oI-+. is-AD

[38]

trg. vgoot 
'

(B) 1

(c) t$ (D) tfi

(A) s/7

118. The probability o::: ^9 53 Sundays in

:
.4

5

(D) tff

https://applink.adda247.com/d/XhqWf9lSap
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121. JEr 6Fd-{iq d-it fr T6l qrqr srff d:

(A) Hrril-{

(B) 3rl{{c g3

(c) srf,
(D) *s

122. sigtlrft E-+ o,r ger 6t{ qr t?
(A) srd
(B) qn
(c) TSrrS

(D) tE-dR

723 3rdqrA iiiEr ild kdrd t q<Rn <rs d,

(A)

(B)

(c)

(D)

3rq c*cl, m-qfe6 ud q6]{ry

6-$-6, F6RrV E{ E+sr

dfrdqrg, 6-itdo, Ed r+{r
T.+{r, 3ilry cesr ui 6ifu-6

rz+. soiRro rdft-d +d #firsro t ,

(A) 3{lrD

(B) Er$r

(c) fiq
(D) d-{d.

12s. rqk{ur b B'-s ffi6 ete d qdrPf b ftu
q+au +is1wr srar ta

(e) a-gqrso

(B) RrTIrIo-s?I

(c) dErrru-$fl

(o) fraqu-sd

SET.A

qqfTtUI SIezrdFI
Environmenta! Studies

xrx- I

121. This is not found in tropical forest :

(A) Teak

(B) Iron wood

(C) Shorea

(D) Pine

(A) Andhra Pradesh, Karnataka and
Maharashtra

(B) Karnataka, Maharashtra and
Odisha

(C) Tamilnadu, Karnataka and Odisha
(D) Odisha, Andhra Pradesh and

Karnataka

124. Most common bio insecticide is :

(A) Calotropis

(B) Datura

(C) Neem

(D) Babool

125. Which of the conceptual spheres ofthe
environment is having the least
storage capacity for matter?
(A) Atmosphere

(B) Lithosphere

(C) Hydrosphere

(D) Biosphere

P.T"O"

122. Which one is the tree of coniferous

forest?
(A) Shorea

(B) Spruce

(C) Mahogani

(D) Cedrus

123. Almati Dam water conflict related states
are:

t3el
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126. 116 qrRfurft-o ?t7 ii g-sf c-{r6 t '

(A) Efrcr

(B) a-dq

(c) trotvi-q

1oy e-9ftrci-a

rze. f.erg.u. or gn au t,

1n) A<r+<+tc Eus Sg-s&-qd E€

(B) E-<rq-{rdd uo-s sd@ uffitH
1cy g<r+*+ie s+tr 3r$stu-d

1o; gaar+ffi sddw sffiE

rzs. c-d6 q{'gefi ft6g'T{rot Hrdr f,,

(A) 5 E4

(B) zz srfe

(c) zs ftisr

(D) zo a++t

SET-A

xD(- I
126. In an ecosystem, the flow of energy

is:

(A)

(B)

(c)

(D)

Bidirectional

Cyclic

Unidirectional

Multidirectional

727. Which of the following statement is

fa lse:
(A) Inorganic nutrients are recycled

in an ecosystem

(B) Energy flows through the ecosystem

in the form of carbon - carbon

bonds

(C) Energy is recycled in an ecosystem

(D) Respiration process releases
energy

128. EIA can be expanded as :

(A) Environment and Industrial Act

(B) Environment and Impact Activities

(C) Environ ment Impact Assessment

(D) Environmentally ImpotantActivity

129. 'Earth Day' is celebrated every year on :

(A) 5lune

(B) 22 Aptil

(C) 23 November

(D) 26 January

t40I

rzz. frq it otc sr auc arcrs B :

1ny rodft-o ds-6 ildt o.r qrRRrfuo

tiz t ga{-5u166 61

(B) qRfuitc-o dr ti s-sf il c-dr6 6.rdc-

6rdr dri b sq it drm tr
(c) qrftftlko iir il s-df ml g+four

rlar tr

(D) s{s{ cBqr d s-sf rcrrfrd ffr dr

https://applink.adda247.com/d/XhqWf9lSap
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131. ftt b clfi tt qq3f{r{.sq d 3tRrd-dq Et6d

cnr t,
(A) 1.oo ft.fi. cft dfi
(B) r.zs fr.qr. cfr A-d{

(c) t.so fr.qr. cft frdi
(D) r.zs ft.qr. cft d-d<

r:2. tsr ui 3Tir tr{ b orqq d,

(A) dtB

(B) ftsTUJ

(c) #dr%

(D) ffir6

= i t ot+ er rrgft-o lcfr'f, q€t t'

U

- ,_ruo

: -4dlq

(D) - =1 n-1

4. cr$frs= :jirar{ur B-qi anr d,

fnl ftsri T{o.i t
(B) furtrorq Et-flq +

13

(c)

(D)

SET-A

16{6 t
3q{tffi qfr

xrx- I
130. Blue baby sYndrome

(Methaemoglobinemia) is caused by the

contamination of water bY:

(A) Phosphates

(B) Sulphur

(C) Arsenic

(D) Nitrates

131. The maximum allowable concentration

of fluorides in drinking water is :

(A) 1.00 mg Per litre

(B) 1.25 mg per litre

(C) 1.50 mg Per litre

(D) 1.75 mg per litre

132. Cholera and typhoid are caused by:

(A) Worms

(B) Virus

(C) Bacteria

(D) Fungus

133. Which of the following

mineral :

(A) Asbestos

(B) Feldspar

(C) Phosphate

(D) Nitrogen

134. Nitrogen fixation is done bY :

(A) Lightening

(B) Fixing Bacteria

(C) Fetilizer

(D) All of these

is not a natural

t41

130. +d ftrg *iaaq tfieffifrifrqTl, 5-d

C fu.-fl A-d fi 3{ftrodT b mr<oT drdT d,

1n; mRz
(B) rrdD{

(c) 3nSfr6

(D) cr{Az

l

P.T.O.
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135. eTrrf, d cem qqq qqfil{sr €{sq 3rRrfrqq

H rqrft-d b-fi rlq ,

(D) eafr rqsor 3rRrfrqc

136. 3irsil{ q*,a fr M qrft Br* d,

(A)

(B)

(c)

(A)

(B)

(c)

(D)

(A)

(B)

(c)

(D)

ao sftrftqc

aTg srBrfrqq

cqfil{q 3rRrftqq

fr.fr. sc. it

ft.fr.fr. d

t$-dosd

diffi{ s-6r$ fr

137. qqtfiq oq"srur 3rftrftqq e&frqka fuqr

rTqI EII :

(A) d{ 1es6 ii

(B) ad regz t
(c) d{ 1e84 ii

(D) d{ 1e74 ii

r:4. qtfu-a ero from t-qr:ft tan$.S.fi.us.1

ot gw stgq d,

cfurcnr

weq;fia E?i ffifr ffit
ffi uo grSqdrR-o Er$r

3q'n-ffi q!ft

1421SET-A

xD(- 1

135. The first major Environmental Protection

Act to be promulgated in India was:

(A) Water act

(B) Air act

(C) Environmental act

(D) Noise Pollution act

136. Ozone layer thickness is measured in:

(A) PPM

I

137. Environment Protection Act was

enacted in the year-

(A) 1e86

(c) 1984

(D) 7974

138. The main objectlves of Integrated Child

Development Services (ICDS) are:

(A)

(B)

Immunization

H ea lth checkup and referral

services

(C) Frerschool and nonformal education

(D) Alf,bFthe above

https://applink.adda247.com/d/XhqWf9lSap
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139. 3lr$.w.3i.14000 cFr6 +qftr-d f;,

(n) s-{sur edsq

(B) ritfuq e-d€lq

1c; rofa-<ur mir+

1o; su-<Im t atr$ q6t

r+0. S< s-df d.JFd t& t ,

(A) 6d-{-6rd-{ dtr t
(B) E+ qRrit fr

tcl #qrcc {crc it

1o1 erdrr+ w ii

141. grs frd +n qrs, ffi, qi, @ Bi

ra so qrfr RrFr rR rri S, erntro w
tr€6-6id '

tnl qrRfurft-o iiz
(B) lTTdlq

(c) s{dsr
rol qrrsfto seqlrr

142. q.{Tfflur s&qfi b frrero b w d srq

EEi d fu.CqER d sr+ d dE-iT sqrA

i s+rq dEii dr FrqfrRra d t 6t{ fr
. +frRr 6{+ d rgqft +S *tr
: frEfiq{ b dmdit S ftu vgo vrfr

sH#qrq'ftABIir
.8 

" 
.Eqs-{tftFrdan-*< otqgr $rf,q

si d, q6 q-dT EFTFII

fct tEqrur ii tr{ ETTd<t d t *dit,
:rd sHr u-ofra o-r+

tol fuEqrE< t r€t+ * tqr *-or fu*

ilfli b fru rr-e Srilr fi olfi a1

qtudam
SET-A P.T.O.t43I

xlx- 1

139. ISO-14000 standards is related to :

(A) Pollutionmanagement

(B) Risk management

(C) Environmentalmanagement

(D) None of the above

140. Solar energy is stored in:

(A) Carbon-carbonbonds

(B) Green leaves

(C) Fossil fuel

(D) Biomass form

141. Some Organism living in a vacant lot

include grass, dandelions, mice,

grasshopper and slugs. Collectively

these are known as :

(A) Ecosystem

(B) Community

(C) Population

(D) Mutualism

142. As an EVS teacher, you plan to take

the students to the zoo. Which of the

following activities would you not allow

the students to undertake?

(A) Take along lots of eatables for the

animals at the zoo

(B) Try to find out the food taken uP

by different animals at the zoo

(C) Collect photographs of the
animals they expect to see at the

zoo

(D) Take their drawing books along

with them to draw what they see

at the zoo
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143. grf E-6 rtia { r:fe t 3fls a-o€ qr rir-o-< *
:qfr or Serc srilqrd 61e gu qf u-< umr

q-orfr *t trud dt{ Tfi-n t rS i-n qifr

sT r& d, {q-6r 6rqur d q-o-or t -

(A) dtrq ir srrr+ * rsrfta mref=i

q)$ffiE-s ,il r€b s+sq rfr fr Bcr

drdet
(B) trat qu $rq t rflrFd ormT q3{i

E) J-s& ro-sq rfr ii sqr d urTr

*,n

tct a-ot Es $€r+ b W t r$ E-d-tr dr

,T{ drt

(o) :-qr& HH e r-r< silr qrr{ s-{yur

dsII {drf,€n

144. qqt*{ur 3T€uHq fr qqq-9fl6 fr Gfrqi
qTftE 6{+ 6'r fttrftfua ii t otc Hr

sivu rfr {a

tel oaitii anfro-+erofr"f,q yrfu ffi-d
tFq;TI

(B) iloit it d6 crftF 6r fr-ors ar<+

tcl oait b'qRas 6i qfta o-rcr 3#r

s* rs qc 61 3iFFa J6r+ t{r

(D) Ed-fiq-drtrdq d drrq-crsa{ r{'6-dr

a;r ft-ors m-rcr

5ET-A

(D)

143.

xlx- I
Durga llves in a village and cooks food

on a chulha (earthen stove) using wood

and cow dung cakes as fuel. She has

been suffering from severe cough for
the last three months. This may be due

to the-

(A) Carbon monoxide produced by

burning fuel which may have been

deposited in her respiratory tract

(B) Soot produced by burning the

fuels which may have been

deposited in her respiratory tract

(C) Smoke produced by burning fuels

wh ich may have caused her

allergy

(D) Old age and pollution inside and

outside her hut

Which one of the following is not an

objective of including riddles and puzzles

in the EVS textbook?

(A) To develop critlcalthinking ability

in students

(B) To develop reasoning ability in

students

To confuse the mind of the

students and let them enjoy the

confusion

To develop curiosity and ability to

think creativity

(c)

744,

1441

I
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145. Aq6{ b jiil{r+olal h ela q-qldriul3fffl-cm

q-art eqq s{rq qr-i fl fu EH qr'-o ii sft

=r& A <t t, snq wr 6tta

tal aait a1 ffi b frs dr6-i dETq ii d

arcft

(B) r+ 3lqi fri 6) is q< rei *<
snqrq 6{i b frE 6.tt

tc) qr6 dr trd6 dcri b frE frfrq gkr-dT

w sntnfra re qro e-6rc.6 61 3qdrl

6tt

tol Esq o}a-om caait

146. Lr6 sr€urrro 3rci ffit an EFr* arrqtt

b fu, *dr t sfl-{ T{ src-dtt b fuit it rrl

trG ol CIarn t dr 6crt u-{t d =r€t r6&l

{s frur 6rrrs tFI Jtw t-

(a) g'J-{rfl-6-dT al kors or+

(b) s-d-iir6q or ft-ors o-rqr

(c) drfldiur olvro or frors a-<+

era d'q-6 6r ft-u;rs or+

L.-.F ii t dl-q"fr sd} da

: a, caih<d

a,bsikc

a, o 3tt{ a

O,cs*<A

s t4sl

xlx- 1

145. After the lunch break, while teaching

EVS, you find that stuclents are not

taking interest in the lesson, what wouid

you do?

(A) Take children out to play !n the

ground

(B) Ask thern to put their heads down

on the desk and relax

(C) Use audio visusal aids based on

multiple Intelligences to make the

lesson interesting

(D) Change the topic immediately

L46. A teacher gives pictures of different

animals to his students and ask them

to colour the picture of the animals that

do not live in their houses. The objective

of this activity is to develop :

(a) creativity

(b) observation

(c) classificationskill

(d) data collection

Which of the above are correct?

(A) a, c and d

(B) a, b and c

(C) a, b and d

(D) b, c and d

P,T.O.
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14e. T& it u-o u-qw 6t ffi gfua wx t
crqr Brdl t -

(A) a#e-q

(B) stnlq

(c) qT$-*ts-q

tol $rffia-r

15e, frq fi t 6t{ rcfRro furi qrRfrxftrd

-i.
d-?6-

(A) {q

(B) tFffiq

(c) qerc

(D) n5E

xrx- 1

747. First Ozone hole was found over -

(A) North Pole

(B) Antarctica

(C) Africa

(D) South Pole

148. Atmospheric humidity is measured by -

(A) Photometer

(B) Hygrometer

(C) Potometer

(D) None of these

150. Which of the following is the most stable

ecosystem-

(A) Forest

(B) Desert

(C) Mountain

t46ISET-A

(D) Ocean

A7. Mq 3iEiI{ frd srdfl rr{Ir -

(A) ffift lIE b uq<

(B) sier6ft-o b sc{

(c) sfror & sq<

(D) aftiur q-d b sqr

148. rililT{ur d 3rTf-dr qtft srff t -

1ny utCrfix anr

(B) ag*fffi 6Rr

(c) fretfi-cq 6Rr

(D) flitt guq-6f

149. The water pollution in a river is measured

by the dissolved quantity of -

(A) Chlorine

(B) Ozone

(C) Nitrogen

(D) Oxygen
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a-

b cq-{ E-d 6tt

e. crq dqr er t so a-o'b crc qrsl ftfrq-
ffi sret-dl si+fr serfl vga alerar s{ t
qqftrd tt fr+ t b-+o uo rrmr b cw fl
t+rsr Bfrq b Fc C ro o€ fi I 3{rq.ff 3Trn6q

uz b rgmr aqF-d E-frq rnqr g sr{ Ed
ott tqtq G B c"{c r{tqr b sc t EqFd
lTrsl, Efrq r+rqi b sq,fi q6i fr ddftr

tt. <w ord wr-gkor b frffiz effi c{ B-qr

ar e-oar tt

12. ss;r u-* ea o-rt t sqq cE r otl ofr oy$

sc;r r sndr d dl srre crq T{ dr}t

rs. 3ilosqm{Ro stx q:kr 6i ,ig T€t etr + fr
ffi q-or< t ft-p-o otr

t+. cftsil eqr,a drt w sioscmTrco frN q7r6

dr os fttero o1 rqsq rfo dr ffiqfiiit d
ltn q7r6 d orda ffi mi ue-+-gkor srri
erqr d ari a1 rgqft tr

xlx- 1

Question Nos. I to 30 are related to Child
Development and Pedagogy.

7. Question Nos. 3I to 60 are related to First

language - Hindi OR English. Candidate has

AS

6

t{M b cc-{ fi qln cem b sc ii Ed a-$ dr to se lect the ouestion s ofonlv one lan

3{rq'?fi 3{rid-{ w b rgun rqFa qrqT qprq the First lanzuage. Answer the questions of the

language which the candidate has selected as

First language in his/her application form.

8. Question Nos. 61 to 90 are related to Second

language - Hindi OR English OR Sanskrit OR

Urdu. Answer the questions of only one

language which the candidate has selected as

Second language in his her application form.

Be careful that the Ianguage selected as First

language cannot be taken as Second language.

10. Question Nos. 121 to lS0 are related to
Environmental Studies.

11. Rough Work can be done in specified space of
the Question Booklet.

12. Do not wasre lime in solving the questions. If
you cannot answer a question, proceed to the

next one.

13. Do not lbld or damage the OMR ansra,er sheet

any way.

14. After examination submit your OMR answer

sheet to the invigilator Candidates are allowed

to take au,ay the carbon copy of OMR answer

sheet and Question Booklet.

JF
e.

6. cyq drgT 1 t s0 d6 b cw qrm ft-6rs ui
Rieror fi'*n t swftn dr

7. cTqdsr 31 * 60 il6bc{r rrlqleEq-m
serdr 3if$ t qeftt-d fir S-+q t b-+o r'6

ysq {@r 91 t t zo a-o b cEq rrFra t HEftid
tt

10. qc;r TiEqr 121 $ 150 il6'b cw rrqfiltur

3[€s{r t qeftrr dt

PE
-{

9. Question Nos. 91 to 120 are related to
Mathematics,

l
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